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A Algebra: Solving complex [inear equations ' ' . Skill 3.6
Solve these equations for x; 7
1 4x+2=-3x+16 2 2x+3=6x+11 3 —x+4=-3x-6
- 5x+1 :
4 —5(x+6)=-120 5 6(4x+1)=18 6 2-=3
4
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B Indices: Expanding brackets with indices Skili 4.5
Simplify: 5 . )
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.C Cartesian plane: Plotting quadratic equation - Skill 5.7
- Complete the tables of values and plot the curves on a set of axes: '
i1 y=3-2 . 2 y=x2-x-2
i x 21 -1 0 1 2 x -2 - 0 1 2
i : .
R Z
{D Cartesian plane: Shifting parabolas - Skili 5.8

b1 y=322 2 y=x"—4 3 y=2x+4)2
4 y=(x-3)2+2 : 5 y=%a:2+3
\ Geometry: Working with angles between parallel lines - Skill 6.1

1 Identify the angle pair and use an equation to solve for the pronumeral:-

(@ AL .

: / - A /a i 1278
sa > ' 46° 9a /
/ /

(b)




y=2(x+4)2 ¥4

. 12,27
4 ) 5 16 6 -19863a b
¢ e
8,6 30,40
12,3, 9ab a b
7 531441a “b" 8 o 9 )
c _ C
10 164758 ‘
C1 (—‘l, 2, 3, 2, _'1) 2 (43 0: '—2, —2! 0)
y A ’ ¥ A
471 - 47
3
271
i1
‘jﬁ_}_r i \'i;c 1/2x
27 -2
Y -3
Y
D A y=3x2
- 2
H y=x
f x
JF \ - ’ y
§ 3 tirgles : D0\5n4
I steaper units
&

k. -4 -

3

s ¥ Y

- Leit4 _Right3

r.% .units, twice units

3 as steep ' up 2 units
Half as steep

up 3 units
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FE 1 (a) Corresponding, 32.2°
4 (h) Allied or co—interior; 134°
{c) Alternate, 143"
2 (a) a=b=d=38%c=e=f=142°
(b) a=60.5°c=39"e=40L° g=92,
b=81°, d =325 f=24°
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: .[ y,. * y=x.2 y)\ y=(x—3)2+2
x- '<¥ :

X




